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SHORT ANSWER TYPE QUESTIONS QUESTIONS:

1. What did Mandela think of oppressor and oppressed? (CBSE 2011)
2. What freedom meant to Mandela in childhood? (CBSE 2015)
3. What did Mandela realize about his brothers and sisters? (CBSE 2012)

LONG ANSWER TYPE QUESTIONS:

1. What made Nelson Mandela, a young man, join the African National Congress? What
transformation did it bring about in his life? (CBSE 2010)

2. Describe the value of freedom for the human beings and how is it important for the growth of
civilisation and humanism as described in the lesson. (CBSE 2014)

VIDEO LINK: https://youtu.be/LFEGyQ2ycyY

ECONOMICS

Class: X* Subject: Social Science (Economics)
Chapter 4: Globalisation and the Indian Economy

STUDY NOTES

WORLD TRADE ORGANISATION (WTO)

1. World Trade Organisation has been set up at the initiative of the developed countries. It started functioning from
January 1, 1995. Presently, 152 countries are its members.

2. The principal aim of WTO is to liberalise international trade. For this purpose, it establishes rules regarding
international trade and monitors that these rules are observed.

3. In practice, it is seen that the developed countries have forced developing countries to remove trade barriers, but
they themselves continue to retain these barriers.

IMPACT OF GLOBALISATION IN INDIA
1. With the liberalisation of trade and investment policies, India has been rapidly integrating with the global
economy.
2. Increasing globalisation has affected different sections of the society globally. Some of the beneficiaries of
globalisation can be identified as follows:
(i) Consumers have benefited a great deal from globalisation. There is a whole range of choice of goods available
to them that have been produced in different countries.
(ii) Doors of investment have been opened up for MNCs. They have been investing large sums of money in India;
they have been seeking to earn large profits.
(iii) Domestic suppliers of goods and services have also gained by selling these to MNCs.


https://youtu.be/LFEGyQ2ycyY

3.

(iv) Indian companies have invested in newer technology and production method, and raised their production
standard.

(v) Indian companies have also gained from successful collaborations with MNCs.

(vi) Many of the Indian companies themselves are now becoming MNCs. They are spreading their operations
worldwide.

(vii) New markets and opportunities have opened up for many new industries, particularly those involving IT.

But there have been losers also. Some of them are as follows:

(i) Flexibility in labour laws has been reduced. Instead of hiring workers on a regular basis, they go in for
'casual labour' or 'contract labour'. Labour has lost security of job.

(ii) Big Indian companies have adopted new technology. They can successfully compete with MNCs. But, small-
scale industries are in a pitiable condition.

(iii) They are not in a position to stand up against the competition from big Indian companies and MNCs. They
are closing down by hundreds.

(iv) New technology, by nature, is labour displacing. Consequently, unemployment is increasing. This is
alongside the fact that the demand for highly-skilled labour is on the rise.

STRUGGLE FOR A FAIR GLOBALISATION

1.

1)

2)

3)

4)

S)

Globalisation is not proving to be a fair deal. Fair globalisation would create opportunities for all and also ensure
that the benefits of globalisation are shared better.

The government can play a major role in making globalisation fair for all.

Government policies must protect the interests not only of the rich and the powerful but of all the people in the
country.

Government can ensure that labour laws are properly implemented and the workers get their rights.
Government can support small producers to improve their performance till they become strong enough to
compete.

It can negotiate at the WTO for fairer rules.

Describe the contribution of technology in promoting the process of globalization.
[D2017] (5)
OR

Which factors have stimulated the globalisation process?

How has information and communication technology stimulated globalisation
process? Explain with examples. [2019, Foreign 2015, 2014] (5)
OR

"Information and Communication technology has played a major role in spreading
out production of services across countries." Justify the statement with examples.

[2016, 2012] (3)
"Globalisation and greater competition among producers has been advantageous to
consumers." Support the statement with examples. [2016, 2015, 2014] (5)
OR

Analyse any five positive effects of globalisation on the Indian economy. [2019, OD
2017] (5)
OR

Explain any five effects of Globalisation? [JSM-1, Set — 2, 2019, 2011] )]
OR

How has globalisation affected the life of Indians? Explain with examples. [2019,
2018, 2012] 3)
OR

Should more Indian companies emerge as MNCs? How would it benefit the people in
the country? [2012, 2011] (3)
Describe the major problems created by the globalisation for a large number of small
producers and workers. [2012, Foreign 2016 )]
OR

Describe the impact of globalisation on small producers. [2012] (3)
What is Globalization? How can the government ensure fair Globalisation to its
people? Give two points. [2011, 2012] (3)

OR



How can the Government of India play a major role to make globalization more fair?
Explain with examples. [JSM-2, 2019] 3)
OR
What steps should be taken to make trade more fair between the countries? [2016]
(5)
OR
"Fair globalisation would create opportunities for all and also ensure that benefits of
globalisation are shared better." Support the statement. [2015, 2012]

Video Links

https://www.youtube.com/watch?v=ISWEFUcgXCg
https://www.youtube.com/watch?v=00rl1ydFIA20Q
https://www.youtube.com/watch?v=o0clm9sGZdho
https://www.youtube.com/watch?v=fdmrXbHAIIY
https://www.youtube.com/watch?v=mBvzXnJsECU
https://www.youtube.com/watch?v=o0clm9sGZdho&list=PLtm6_n61SZROwk5qceGjjqliNnx
SMWGWL

https://www.youtube.com/watch?v=FMICtjvWmI8

HISTORY

Chapter- Part 2 Nationalism in India
Worksheet-2

1. Identify the following image and write its name.

2. Identify the following image and write the name of movement.


https://www.youtube.com/watch?v=ISwEFUcgXCg
https://www.youtube.com/watch?v=oOr1ydFIA2Q
https://www.youtube.com/watch?v=oclm9sGZdho
https://www.youtube.com/watch?v=fdmrXbHAIlY
https://www.youtube.com/watch?v=mBvzXnJsECU
https://www.youtube.com/watch?v=oclm9sGZdho&list=PLtm6_n61SZROwk5qceGjjq1iNnx8MWGWL
https://www.youtube.com/watch?v=oclm9sGZdho&list=PLtm6_n61SZROwk5qceGjjq1iNnx8MWGWL
https://www.youtube.com/watch?v=FMICtjvWmI8

3. Identify the following image and write the name of movement.

Short questions

Q1-Why growth of nationalism in the colonies is linked to an anti-colonial government?
2.How the First World War helped in the growth of the National Movement in India?
3.Why Indians were outraged by the Rowlatt Act.

4. Why Gandhiji decided to withdraw the Non-Cooperation Movement.
5.What is meant by the idea of Satyagraha?
6. Write a newspaper report on:

i.The Jallianwala Bagh massacre
ii.The Simon Commission

Compare the images of Bharat Mata in this chapter with the image of Germania?
Why Gandhiji withdrew from the Non-Cooperation Movement?
Explain the idea of Satyagraha.
Discuss the famous incidence of Jallianwala Bagh.
Explain the role of Alluri Sitaram Raju in Andhra Pradesh during the 1920s.
Discuss in what way the Salt March became an effective symbol of resistance against
colonialism.
10. - In what way the First World War helped in the growth of the National Movement in India.
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Revision

Chapter 1: Resource and Development

Multiple Choice Questions:
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Which of the following methods does not help in soil conservation?
(a) Contour ploughing

(b) Strip cropping

(c) Creating shelter belts

(d) Ploughing up and down the slopes

One of the following which does not check land degradation-
(a) control on overgrazing

(b) creating shelter belts

(c) deforestation

(d) afforestation

Burial ground is a

(a) community owned resource
(b) national resource

(c) individual resource

(d) international resource

Laterite soil is very useful for growing:
(a) Rice, wheat and mustard

(b) Tea, coffee and cashewnut

(c) Pulses, sugarcane and resin

(d) None of the above

Black soil is deficient in
(a) Calcium carbonate
(b) Magnesium

(c) Potash

(d) Phosphoric contents

Which of the following soils has self-aeration capacity?
(a) Alluvial

(b) Red sall

(c) Black soll

(d) Mountain soil

Ploughing along the contour lines to decelerate the flow of water down the slopes is called:
(a) Strip cropping

(b) Sheet erosion

(c) Contour ploughing

(d) Terrace cultivation

Which cold desert is relatively isolated from the rest of country?
(a) Leh

(b) Kargil

(c) Ladakh

(d) Dras

What is the percentage share of plains in the total land area?
(a) 43%
(b) 23%
(c) 33%
(d) 27%

10.Which one of the following states mostly has laterite soil?
(a) Uttar Pradesh
(b) Bihar



(c) Rajasthan
(d) Meghalaya

SHORT ANSWER TYPE QUESTIONS

1. Define the following terms.(
e Current fallow land
e Other than current fallow land
e (Cultivable waste land(2013)
2. Explain any three factors responsible for soil formation.(2011,2012)
3. Describe any three methods suitable for controlling of land degradation (2015)
4. Indiscriminate use of resources has led to numerous problems . Justify this statement.

LONG ANSWER TYPE QUESTIONS

1. Why is soil considered as a resource? Explain with five arguments.
2. More availability of resources will not bring economic development . justify the statement.

ACTIVITY: Identify the type of soils marked on the given political map of india.

VIDEO LINK:

https://youtu.be/APVP6IrbtV8

https://youtu.be/du-6-NZxN-w



https://youtu.be/APVP6IrbtV8
https://youtu.be/du-6-NZxN-w

PHYSICS

Class-10-Physics- Assignment

Assignment-4

Link- https://youtu.be/UuN1S7bZQ68

PNV A WN R

1. What will be the current drawn by an electric bulb of 40 W when it is connected
to a source of 220V?

2. Abulbisrated as 250V;0.4A. Find its power and resistance.

3. An electric bulb is connected to a 220V power supply line. If the bulb draw a
current of 0.5A, calculate the power of the bulb.

4. An electric bulb is connected to a 250 V generator. The current is 0.50 A. What is
the power of the bulb?

5. What current will be taken by a 920W appliance if the supply voltage is 230V?

6. When an electric lamp is connected to 12V battery, it draws a current 0.5A. Find
the power of the lamp.

7. Calculate the power used in 2Q) resistor in each (i) a 6V battery in series with 1Q2
and 2Q) resistor (ii) a 4V battery in parallel with 12Q and 2Q2 resistor.

8. A 100 W electric light bulb is connected to a 250 V supply. Determine (a) the
current flowing in the bulb, and (b) the resistance of the bulb.

9. Calculate the power dissipated when a current of 4 mA flows through a
resistance of 5 kQ

10. An electric kettle has a resistance of 30Q2. What current will flow when it
is connected to a 240 V supply? Find also the power rating of the kettle.

CHEMISTRY
NOMENCLATURE AND ISOMER WORKSHEET

FILL THE NAME OR FORMULA OF THE FOLLOWING HYDROCARBONS:

CsHs

CsHs

CzHa

CsH16

CsH1o

CgHa1se

CoH1se

CioH22


https://youtu.be/UuN1S7bZQ68

10.
11.
12.
13.
14,
15.

(Sl
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BUTENE
OCTYNE
PROPENE
NONENE
PENTANE

ETHYNE
HEXYNE

DRAW THE ISOMERS OF
1. PENTANE
2. HEXANE

DRAW THE STRUCTURES OF CYCLOHEXANE AND BENZENE. ALSO WRITE THE CHEMICAL FORMULA.
IDENTIFY THE FUNCTIONAL GROUP:

i) CH3CH,OH
ii) C,HsCOOH
iii) HCHO
iv) CHsCOCH;
V) C3H7C|

VIDEO LINK: https://youtu.be/Lss5n2gfSNO

BIOLOGY

CH- OUR ENVIRONMENT

Give any two ways in which non-biodegradable substances would affect the environment.
What is the role of decomposers in the ecosystem?
What will happen if we kill all the organisms in one trophic level?

Will the impact of removing all the organisms in a trophic level be different for different trophic levels? Can the
organisms of any trophic level be removed without causing anv damage to the ecosvstem?

What is biological magnification? Will the levels of this magnification be different at different levels of the
ecosystem?

If all the waste we generate is biodegradable, will this have no impact on the environment?

(a) What is 'environmental pollution'?
(b) Distinguish between biodegradable and nonbiodegradable pollutants.
(c) Choose the biodegradable pollutants from the list given below:

Sewage, DDT, radioactive waste, agricultural waste.


https://youtu.be/Lss5n2gf5N0

With the help of an example, involving four organisms, describe how energy flows from different trophic levels?

What is a food chain? Write a five-step food chain found in grassland with frog as one of its members. What will
happen to the members at different trophic levels in the food chain if all the frogs in grassland were removed?

What are decomposers? What role do they play in cycling of materials? How do the decomposers help in the
replenishment of soil?

What is a food chain? How does the study of food chain help us? Explain with two suitable examples, which
food chains are advantageous in terms of energy?

YOU TUBE LINK :- https://www.youtube.com/watch?v=iPpxm79lcvQ

MATHEMATICS

Case Study based1:

In A game the entry fee is 5. The game consists of a tossing a coin 3 times. If one
or two heads show, Sweta gets her entry fee back. If she throws three head, she
receives double entry fees. Otherwise she will lose. For tossing a coin three
times, find the following:

a) what is the total number of outcomes for this game?
8

2

6

None of these

b) Probability that she loses the entry fee?

1

3
4

None of these



c) Probability that she gets double the entry fee?
1

1

3
4
None of these

d) Probability that she just gets her entry fee?
1

1
8

3
4
None of these

e) Sum of probability in all the three cases?

1

3
4
None of these

Case study Based 2:

The following table shows the ages of the patients admitted in a hospital during
a year:

Age(in 5-15 15-25 25-35 35-45 45-55 55-65
years)

Number |6 11 21 23 14 5

of

Patients




a) What is the modal class of the given data?
5-15
15-25
25-35
35-45
b) What is the value of the class mark for 45 -55?
10
50
100
20
c) What is the median class of the given data?
5-15
15-25
25-35
55-65
d) What is the width of the class?
10
5
2.5
15
e) What is the sum of upper limit of modal class and lower limit of median
class?
100
70
90
80

VIDEO LINK: https://youtu.be/6ksHcfhCYug

COMPUTER

INFORMATION TECHNOLOGY

ASSIGNMENT DATABASE SYSTEM


https://youtu.be/6ksHcfhCYug

Short Answer Questions (2 Marks)

1.Explain Data and Information with a suitable example.

2.Identify data and information from the following:

3.A student data like 111, “Saumya”, 80%

Roll No — 112, Student Name-Saumya, Score — 80%

Mr. Subodh, Ahmedabad, 35000

Mr. Subodh is living in Ahmedabad and his monthly income is 35000.

4.What do you mean by a database? Elaborate your answer with an example.
5.What are the features of the database? 6.Explain in one line.

7.Explain the concept of RDBMS. lllustrate your answer with suitable examples.

8What is the primary key, candidate key, and alternate key? Explain with a suitable example with a table to explain
it.

9What are the features of a primary key?

10.Define the following:

Field

Record

Relation

11.Write a few examples of RDBMS packages. (At least 4 names required in 2 Marks)
12.What are the types of databases? 13.Explain with proper examples.

14.What do you mean by the Front end and Back end?

15.Explain the concept of database servers and clients.

VIDEO LINKS

https://youtu.be/VGNgV roUnl
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https://youtu.be/VGNgV_roUnI
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